T2 B 5 2 MR SRR AR
5 8B EE IR A *'éjt/\kr% i
2 HR V2 3E5H14H (1) 28 %*ﬂﬂﬂ%*“%& o o 30 A 1k A

& B

AR EZR (2%32&£2WH)
1% B i

ELTFHEFFR

H= 4 RFGFFK
X — 2= AL
FEl RRFPEGHFER B E 4 Kens B2
1 /h il 5 3 19 X & & +
3
2 FE=EES —————— 5 1 20 & (il
0 2
3 Mt - B 3 22— 21 Wi KM
0
4 FEpRf ———— 1 2 22 FHE G
0 2 (#)
5 E [ % 1 3 4 23 KHE&Z T
3 1
6 W2+ —0 OL—— 24 FEHETE
1 I 1
7 FEEEE 4 O———— 25 /% A
0 L 3
8 M A&+ — 2 4 26 SRR
4 &
9 H J B & 3 | 5 27 B H
2 1 2
10 [BIEREHG A 2 (%) O— 28 EFEFOFF
3 2
1/~ i g —2 22— 29 /LYK mE
0 0
12 & F & + 3 3 30 /0 b W
1 0
13 & R H ———1 4 31 FHE LT
1 0
14 A B2 A 3 14— 3 % 3
0 2
15 i KApEHE ———1 (%) 5 33 {E ¥ % b
4 1
16 R —0 4 O— 34 FH - Jb#¥
0
17 4t « it =—— 2 3 3 35 R BH g
18 & % B K 4
< TR >

¥R A Jeo # /I R R KoF | B | A

g M|

< < @ l“‘

X 2 &F 1|3
P.ho| R | FE | BRK

tochigi.koutairenkendo.jp

W
Py
8




